

PROCEEDINGS OF THE COCHIN DEVASWOM BOARD

Abstract

Cochin Devaswom Board – Maramath wing- Renovation of East side 'Gopuram' of Sree Nelluvai Dhanwanthari temple – Nelluvai Devaswom – Thiruvilwamala Group- Quotations invited – Order issued

Read

- 1. OM No. A5 8745/22 dt. 01-06-2024
- 2. Request from KU Samithy dt. 01-03-2024
- 3. Letter from DAC Thiruvilwamala on 1739/24 dt. 23-04-2024
- 4. Note from AE dt. 12-07-2024
- 5 Note from AEE dt. 26-09-2024
- 6. Note from EE dt. 26-09-2024
- 7. Decision of DC dt. 01-10-2024

Order on H1. 1496/2024 dt. 07-10-2024

As per the papers cited above an estimate of Rs. 1,96,000/- (Rupees One lakh ninety six thousand only) is passed and sanction is accorded to execute the above work after inviting local quotations.

The sealed quotations should be received in this office on or before 21-10-2024 at 3 P.M. and will be opened at 3.30 P.M. on the same day in the presence of Executive Engineer, Cochin Devaswom Board/higher officials of Cochin Devaswom Board, Thrissur.

The sealed quotations should be addressed to the Executive Engineer, Cochin Devaswom Board, Thrissur and should contain the PAN number of the quotationer.

A copy of the estimate along with notification is herewith forwarded to Devaswom commissioner Devaswom Assistant Commissioner, Thiruvilwamala group for exhibiting in their office Notice boards.

(By Order)
Sd/S. Gopakumar
Assistant Engineer

To

Notice Board,

The Assistant Commissioner - Thiruvilwamala,

The Devaswom Commissioner, The Executive Engineer,

The Assistant Executive Engineer,

The Assistant Engineer, Stock File

//Approved for issue//

Junior Superintendent

TS Register No: 1623/2024-2025

AS Register No:1672/2024-2025

Renovation of East side Gopuram of Sree Nelluvai Dhanwanthari Temple-Nelluvai Devaswom-Thiruvilwamala Group

Abstract Estimate

(Dsor year: 2018,Cost Index Applied for this estimate is 35.59%)

	1 Renovation		
1	15.31 Dismantling tiled roofing with battens, boarding etc. complete including stacking of serviceable material and disposal of unserviceable material within 50 metres lead.		
	Net Total Quantity	61.440 sqm	
	Say 61.440 sqm @ Rs 176.54 / sqm	Rs 10846.62	
2	15.14.1 Dismantling wood work in frames, trusses, purlins and rafters up to 1 including stacking the material within 50 metres lead:Of sectional area		
	Net Total Quantity	0.282 cum	
	Say 0.282 cum @ Rs 3938.41 / cum	Rs 1110.63	
3	od84036/2024_2025 Supplying and fixing Anjily wood wrought and put up for roof member materials etc. complete .		
	Other Engineering Net Total Quantity	0.282 cum	
	Say 0.282 cum @ Rs 127438.09 / cum	Rs 35937.54	
4	50.9.14.1 Supplying and fixing Anjily wood reapers of size 50x25 mm with wire r of materials etc. complete. Net Total Quantity	nails including cost and conveyar	
-7	Say 0.179 cum @ Rs 102593.99 / cum	Rs 18364.32	
5	50.9.14.4 Supplying and fixing Dept. wood reapers of size 50x25 mm with wire rof materials etc. complete.		
	Net Total Quantity	0.060 cum	
	Say 0.060 cum @ Rs 20832.05 / cum	Rs 1249.92	
6	od62325/2024_2025 Supplying and stacking M.P Roofing tile including cost and conveyance	e charge etc complete	
	Net Total Quantity	950.000 each	
	Say 950.000 each @ Rs 31.36 / each	Rs 29792.00	
	, @	13 23132.00	

Net Total Quantity	30.000 ea	ch
Say 30.000 each @ Rs 45.30 / each		Rs 1359.00
8 od62327/2024_2025 oiling roof member with diesel oil		Teams the man an
Net Total Quantity	92.160 sq	m
Say 92.160 sqm @ Rs 94.16 / sqm		Rs 8677.79
od62328/2024_2025 Setting M.P hip and ridge tiles set in lime mortar 1:2 including fir materials labour charges and conveyance charges.etc.complete.	ishing edge	es including all cos
Net Total Quantity	20.300 me	etre
Say 20.300 metre @ Rs 245.99 / metre		Rs 4993.60
od62329/2024_2025 Roofing with existing MP tiles including labour charges etc.complete.<	br>	i
Net Total Quantity	61.440 sq	m
Say 61.440 sqm @ Rs 69.85 / sqm		Rs 4291.58
od63853/2024_2025 Providing lime mortar boardering to tiled roof including all cost of meters. complete https://www.html.com/providering/provide	aterials labo	
Net Total Quantity Say 9,000 metre @ Rs 120.59 / metre	11S	Rs 1085.31
od63870/2024_2025 setting thazhikakudam	1	KS 1005,31
Net Total Quantity	3.000 eac	h
Say 3.000 each @ Rs 987.28 / each		Rs 2961.84
2 Supplying new copper Thazhikakudam on ac	tuals	
Lump-Sum Total		Rs 45000.00
Provision for GST payme	nts (in %) @	18.0%
		29820.63
Amount reserved for GST payments	5	29020.03
Amount reserved for GST payments Tota		195490.63
Tota		195490.63
Tota	F	195490.63 509.37

PRICE

(Cost Index Applied for this estimate is 35.59%)



Other Engineering Organisations
PRICE